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(218]

ﬂ wuz - 3 / SECTION - A
aeqfAes 99 / Objective Type Questions
qv @ 17 70 Hﬁ%W%WWﬁWﬁFW?WﬂWWﬁ?i
frpeq @1 OMR ¥z a¥ Fafead

Mssnﬁ%mmm?ﬁwﬁ
: 35 x1=35

cdl ,
Question Nos. 1 to 70 have four options, out of which only one is correct.
Answer any 35 questions. You have to mark your selected option on the

35x1=35

OMR-Sheet.

sy SR ST 2

o) T o g @) fawha 39 &9
) fod sefmensizg (D) i 4w T
Labour-intensive techniqu
(a)  Developing countries  (B) Developed countries

(€) Backward economies (D) None of these

vy 6 TS JAEe 1 S F AT
(@A) S & gEEH w1 (B) frar < graurh w1 fam

(C) qrER & grEurt & e (D) = @ B8 T8
ibility of

Which is applicable in the nature of social responsi

1.

e is useful for

management ?
(A) Rule of Buyer beware

,_LB)/ Rule of Seller beware
(C) Rule of Government beware

(D) None of these
3. 3= @ve &I fagward @

(A) g™ (B) TWUY
(C) IS | D) v a ;i
The characteristics of good brand are
(A) Short name (B) Memorable
(C) Attractive .(.B')/ All of these
24/A/XII-5026~(;71401 . Page 3 / 24
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[21&1

: : : e &
4, werdt arftmm atwt gt e e oy et it

(A) Y aTer a6t (B)
(€ e swE wR A al § (D) @

: is given
Dividend on Cumulative Preference Shares is giVe€

(A) In the year of profit
(B) In the year of loss
(C) In the ycar of profit or loss

(D) None of these
5. IFCI frg a¥ & wfua &Y 18 7

(A) 1939 By 1948
(C) 1950 (D) 1956
IFCI was established in which year ?
(A) 1939 "~ (B) 1948
(C) 1950 - (D) 1956
6. U TF qaE 2
4) SHEmAfmmsm  (B) = & A fafiuar won |
(C) 31 g Y o (D) TS I I9-FHEl F afea
Conglofneration is a technique to
(A) Expand in the same industry
- (B)  Diversity in other areas
(C) Taking over the other units

(D)  Divide the organisation in sub-units

7.  ORESAT 3R S W e T g 2

a) fafm (B) =
C) U™ D) ¥ & % 7
24 /A/XI1-5026-(37/40) Page 4 / 24
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[218]
Money spent on the preparation of project is

JB} Investment
(C) Wastage

(B)  Expenditure

(D)  None of these
ﬁmﬁﬁaﬁ:{—mw-ﬁ?&q—%ﬁwﬁ?ﬁmqﬁ% ?

(A)  qeh-fiehl fera (B) @ R

(C) W B-3IArg ®H H INYHAT (D) fawa gea o afwd

Which of the following is not a limitation of Break-cvcn-analy;sis ?
(A)  Technical stability

(B) Cost segregation
(C}) Applicability of multi-product firm
(D) Change in selling price
o, o e eI 35 ey ¥
(A) ¥ et faswm (B) &R W=

(C) AR E&d A Jig (D) = § ot
Advantages of capital intensive technique are
(A) Rapid economic growth

(B) Social influence

(C) ~ Increase in employment opportunities

(D)  All of these
10. ferma faswma @

(a) wWeswgfe 0 (B) il vl
(C) T F&id (D) ¥ F *1S T

Personal selling is

~(A) Verbal presentation (B) Written presentation

(C) Visual presentation (D) None of these

24 /A [ XI11-5026-(37/40)
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|2
F ward a1fues s & R ®
(A) TS @ (13)  SrEfeT =
(C) R @ (D)  SATT TTeh
Maximum wide scope is of
(A) Brand (B) Labclling
M Packaging (D} Tradec mark
12. -9 HU9F g 8
(A) i et (B)  3ifs g
(C) gt (D) T A HIE TE
Naked debenturcs are
(A)  Fully securcd (B)  Partly secured
.LO}/ Unsecured (D) Nonec of these
13.  wrft o wfa $rs wedt @ 5w ‘
(A)  IeITEH HH B R (B)  IcaTeA Wl
(C) IaTe gdaq a2 (D) T A B T
Fixed cost per unit increases when' |
r(aﬁr]/ Production decreases
(B)  Production increases
(C) -Production remains same
(D) None of these
14. ¥fem =
A) fer (B) ==
(C) Irg-=e (D) 8 RETE
Teleph::rme expenditure is
(A)  Fixed 4{B) Variable
(C) Semi-variable (D}  None of these
24/.A/XII-5026—(37;401 Page 6 / :
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E 218

15. A % Frfnd g el 6 5 R

(A) Y FH FE (B) N % &

(C) Y =T SIS YaGTE T (D) T @ HE T

Purchase of goodwill by issuc of debenture is

(A)  Application of fund (B)  Source of fund

JG)/ND flow of fund (D)  None of these

16. Y G4 IATG ATl B

(A) IR I <

(B) WNTERIHAT A % et

() Toramsfierar argard = 3fariq

(D) fasfim feufa srqum & siarta

Stock turnover ratio comes under

(A)  Liquidity ratio (B)  Profitability ratio
(C) Activity ratio (D)  Financial position ratio
17. H& °m1 :

(A) BEP W fesht wee arafas fash

(B) T&hl e avem

(C) arefeeh Tl T BEP W fasht

(D) T8 | HIg A&

Ma.rgin of safety is

(A) BEP sales less actual sales

(B) Sales less contribution |

(é) Actual sales less BEP sales

(D) None of these

- 18, el ISft Iuetew @ |
(A) IO fEH A ' (B) AR STl A
(C) HETI Foh1edl &g (D) +H & wft

24 /A /XII-5026-(37/40) Page 7 / 24
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19.

21.

22.

venture capital is available for
(A) Very risky units (B)
(C) ~ Organisationalunits (D)  A] of these

Wﬁﬂﬁwm%mmm%?
(A) 2
(B) .3

Technical units

Economic resources

(C) Efficient management (D) None of these

121&

T ITEH ST Wy & 3

A)  TEE I |

(A) (B)  3rvewey Ieareq

© wufw D) - frrs

In fact, present production system is

Di .

(A) 1f-ect production - (B)  Indirect production
(C) Primary (D)  Secondary
HeqehTel qaiga fham g &Y arfy =)y i s R 2

(A) 127WE (B) 24w

(C) 18TE (D) 36TE

Short-term forecast involves a period of how many months ?
-{,Dd/ 12 months . (B) 24 months

(C) « 18 months (D) 36 months

24/_A [ XII-5026-(37/40)
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24.

25.

26.

[218 ]

ﬂmﬁm_;ﬂmawwmmﬁ?

(A) @™ (B) HAl

(C) fashy (D) SRew yHY

Which of the following is a main problem associated with
busincss ?

(A)  Profit (B) Money

(C) Sales JDY” Risk Management

il g @

(A) e (B) U: A

c Tard (D) T & &g T

Subsidy is

«4B) repayment

(A) discount
(D) none of these

(C) concession

wrdset oft F1 A 2
(A) R ‘ (B) &% arftfaed
©) s faswa (D) T & wft

The source of working capital is

(A)  Debtors (B) Bank overdraft

(C) Cash sales Bf  All of these

fr & @ -9 gt qEigam H ffty 7# 2 »

() wE Tt (B) wiedie e fafi
(C) Wi fafr (D) ereA fafy

Which of the following is not a method of demand forecasting ?

(A) Survey method (B) Leading indication method

(C) Statistical method By~ Production method

24/ A/ XII-5026-(37/40) Page 9 / 24
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27. aﬁqmi‘?‘mﬁwﬁm‘m'mmm% 1214
(A)  Ha Ak
(B) o] wefmt
(C) I i

(D) =] FefeE 1w e w s

The term 'Fund’ as used

(A)  Cash only

in fund flow analysis means

(B) Current Assets

(C) Current Liability

(D)  Excess of Current Assets over Current Liabilities

28. 91 UG T U8 Igraww 2

(A) it W = (B) @ W
© W= D) fwm
The best example of variable cost is
(A)  Interest on capital "B] Material cost -
(C) ~ Wealth tax (D) Rent
29. wm=a: fatadfeo aifiga frar s 2
(A) Wabwid (B) & wliet &
(C) =R ol o © (D) ui" afent §
Generally diversification is classiiied in |
(A) Two ways 48’( Three ways
.-(C) Four ways (D) Five_: ways
30. WM G R sFa e iz,
) e B ReR
©) == | (D) 7 (A) I T (B)
[247A7X11-5026-w7/40) Page 10
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What is the nature of working capital ?

The determinants of bonus decision are

(©) Ageof the company D}~ All of these
AT WG % & AT §

(A) T TF STCR 3G Fgaa

(B)  E IR TN TR ST

(C) e, I TN T I

(D) e T E A I

The two basic measures of liquidity are

(A)  Stock & Debtors Turnover Ratio
(B] Current Ratio & Operating Ratio
M Current Ratio and liquid Ratio

(D) Gross & Net Profit Ratio

3, ;iq%%m% : |
A T (B FEmwwR
) frewww () wEamh

(A) Amount of profit (B)  Liquidity of funds

[218]

a1 Stable (B) Unstable
C(©) Floating (D)  Neither (A) nor (B)
). ag faoie & fufes &
[ (A) @ hT AT (B) Nt Y qter

(C) FFF A Y D) T d aft

24 / A/ X11-5026-(37/40)
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St "y
Slages of growth are
(A)  Birth stage (B) Decvclopment stage
(C)  Extension stagc (D)  All of these
34. ﬁmﬁaaﬁa?mﬂﬁémmﬁmﬁa%?
(A) TR (B) feaum
(C)  3wre i whwan (D) T & HIg T
Which of the following is included in technical resource ?
(A)  Production (B) Marketing
(C)  Production process - (D) None of these
35. NI % an=aR vty % gew S
(A) i B)
© I D) ISR
Factors of internal environment of business are
(A) Land (B) Capital
(€)  Production | Mll of these
36. Taaem }
(A) ey e (B) Iewx v
(C) wmfdes i (D) AW
Planning is |
(A)  Goal-oriented (B) Objective-oriented
~ (C) Mental process «Br Al of these
37. faaw fawewn w=fia 2 - | -
(a) fFfrwm smewwast a0 (g) Hmﬁmwaﬁ@
(C) o™ INEFEHAI3 A (D) THHH FTETIHArsi &
24 /A]X11-5026-(37/40) Page 12 [
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38.

39.

40.

41.

(218

Input analysis dcals with
(A) Funding requirements (B) Material requircments

(C) Labour requirements (D)  Resource requirements

qfISAT AT &
(a) e faweam (B) fastws fetwor

(C) wmrerEhal ferery (D) ¥ & s T
Project appraisal is a/an

. (A) Export analysis (B) Expert analysis
(C)‘ Profitability analysis (D) Nonec of these
arfzm g 2
(A) S HI (B) HrY H w@m
(€ WFERTAETE (D) Y FE A

Closing stock is https://www.bsebstudy.com

M Source of fund (B) Application of fund
(C) No flow of fund (D) None of these
STYEdT AT Y G SR fEr s @

(A)  WTURY AT H B) R d
(€ T (D) w8 A% T

Profitability ratio is generally shown in
(A) Simple ratio | Mercenmge

(C) Tiﬁles, (D) = None of these

3T =
A) Tkt wem fer ammE B) feshl wera uRadsfier anm

(© FReftwEga @ (D) A X Td

24 /A /X11-5026-(37/40) Page 13 / 24
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42,

43.

44,

Contribution =
(A) Sales less Fixed Cost (B)
(C) Sales less Total Cost (D)

| S Isft Rremum wenfig far w1
(A)  1970% (B)
(C) 1986 % : (b]

[y
|
!|

Sales less Variable Cogy

None of these

1975 ®
1988 d

Risk capital foundation was established in

(A4) 1970 By 1975

(C}) 1986 (D)
oo sraymon 2

(A) SR | (B)
(C) et D)

Marketing concept is

(A)  Production oriented (B)
(C)  Customer oriented (D)
T UTEE B 8

1988

ferspat Gl
i & wh

' Sales oriented

All of these

(A) & 5= Iearg a1 Far it savIHaT B

(B) M @I I A1 Fay whe g #

(C) < =T {1 1 IR Gl ¥ T 8

(D) TH @ oyt

Prospective customers are

(A) People who need products or services

(B)  People who are capable of purchasing products or services

(C)- People who has desire to purchase products or services

(D)  All of these

24 /A [ XI1-5026-(37/40) Page 14 / 24
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E qIvA #
> ?}:ﬁg;-(;qa;reﬁqﬁﬂaﬂ (B)  craehreiia fore 1
() wemehe fd (D) S B
Public deposits arc the source of
(A)  Short term finance {83 Longterm ﬁn_ancc
(C) Middle term finance (D) Social investment
et wma I
(A) H& @ (B) REMI «MTd
() Jered A (D) T &
Total cost includes
(A) Prime cost (B) Works cost
l (C) Production cost (D)  All of these
f;47. e i &R 2 |
L (a) I H U H (B) U@R ¥ e J
| @ et duwd (D) A @
Price policy is in favour of
(A)  Consumer (B) Government
: (C) Producer . (D)  All of them
48. Jefl W1 Haod 8
@ T B) W
(C)  wEteT sEya D) T & =8 T
Duty of entrepreneur is
(A) Over-charging
(B) Tax evasion |
(C) Environmental pollution
(D) None of these
24 /A /XII-5026-(37/40) Page 15 / 24
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49. P ¥ A Rewmr searg 1 dan o g G AT FAT TG S B
(W) = P (B) ~SEEEE *m‘:
(€)  wirfer (D) I v 1
Which of the following is not to be¢ considered whj), -

¢
Product or service ? L

(A Market Assessment (B) practicability h‘
(€)  Competition ()  Product Planning
S50. iy ‘Fﬁ w1 Ryl 2
(A)  EE w1 aTER (B) Wlmﬁ%
(C) == mrer 6 Iy (D) Fﬁamﬁ
Determinant of working capital is
(A)  Size of the enterprise
(B)  Period of manufacturing process
(C)  Availability of raw materials
\M All of these
51. PrfrRee % wamem = 8
(A) R (B) I
(C) Formom == - (D) ¥ ¥ afi
_W-hich of the following is an operating expcnsc ?
(A) Rent ~ (B) Wages
(C)  Advertising expenses M All of these
52. - gH-frede Rvdwn & s g ?
(A) Nam g (B) W@ AHG R W
(C) ¥V guw (o) wHaWh
24 7A7X11-5026-(37/40) Page 1§]
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[218 ]

Which is an utility of Break-cven analysis ?
(A) Risk valuation
(B) Understanding Accounting Data
(C) Profit improvement
Dy~ All of these
53, oo #f § S-U1 TS Y H 9w ¥ ?
(&) W (B) fad W A
© ToEERET . D) IR
Which of the following is an clciﬁent of scﬁsing the opportunity ?
(A)  Ability to perceive (B) Insight into the change
) Iﬁnavativc_ quality . (DY, All of these
sa. At B Y o #

T - -y = = s

o a) R framh (B) aweafye i
L o D) i & w7
r Market demand is known as '
) Demandforecasting (B} Real demand
(C) Supply * (D) None of these
55. T H AT R |
@ TEREER @) wdedw
(©) ug® o woh D) T & # 7

Easy in formation is

_/(K)/ Sole trading (B) Partnership firm

(C)  Joint stock company (D) None of these

24 /A /XI1-5026-(37/40) Page 17 / 24
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{Gi

3 a - E iR ulﬁ
56. =114 & - syaaer fren w St g _ _

(A)  iifEn geey (B) @™ ﬁﬁm.f@ =T e

© e () wiaF

Which of the following is not a problem of expansion of bUSinQaa;

(A)  Risk Management

(B)  Profit planning & Expense control

(C)  Price Policy
(D} Trend of Demand

57. e # A S-m s mﬁﬁqﬁmﬁﬁﬂmmm%%?

(A)  3m=afs wim <6t amn ) fafia a8t

(©)  waiw f e smer (D) T @ HIE T |

Which of the following factors affects the identification of businﬁl
opportunities ?
iﬂ)/ Volume of internal demand

(B)  Created opportunity

(C) Existing opportunities in the environment

(D) None of these '

58. = d 7 dnaw ¥ wrew W) Rt w2 2

(A) | HTBR _ (B) ¥

(C) arerm (D) T A PR | |
Which of the following determines the form of the organisation 5

| (A)  Size | (B) . Location h
(C) Study - (D) None.of these
59. UH I IS Bt R _. -
A) @R | (B) §HA w4 ATt
(€ e (D) @
| | 24 /A/XI1-5026-37/40) | Page 18|
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E [218 )
E A pood plan i!li '
E (A)  expensive (B)  time consuming
; _(;,}/ﬂcwclblc (D) rigid
o wEw (B) e =
() Tawem = D) =t 3 af
| Project report is a summary of
', (A) Facts (B)  Information
(C) Analysis M of these
61. WG TauH e Ty wafRa 3
LW WEFEETR . B momgged
L © WHFRWTEY o) iy e
Net Present Value method is related with
(A) Time value of money tB] Inflated value of money
(C) Present value of money (D)  None of these
o & @ HT-A1 T TR e Qo
(A sifes e B) THHh dEE
(€ wwhEEE D) ¥ A wh
Which of the following i is the kind and source of resources ?
(A) Physical resource (B)  Technical resource
(C) Hurnan resource . (D) All of these
e §Sft 6 sEEEa A
@) P =t e w6 R
(B i Ele & fg
€) %@l fm
(D) @?Elﬁ & ‘:I“?ﬂ:' w3 ¥ Ry
' 24/A/XII 5026 (87/40) | - Pagé 19 / 24.‘
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64,

65.

- 66.

Fixed capital is rcquired for

(A)  Payment of routine expenses

(B)/Pu rchase of land

(C) Purchasing stock

(D)  Payment to creditors
SUEH =1 gAa ikt w2
(A) TR SR (B) @TEdt w1 IftehR W

(C)  a=Et Ft wd A ey o (D) 39 &+ T

Selection of an enterprise depends on
(A) Sole trading

(B)
(C)

Right of entrepreneur

Self ability of entrepreneur

(D) None of these ‘
mwmﬁm%mﬁm%mm%?

(A) g " (B) InfysER

(C) v D) ¥ & i T

Which is defined as the discovery of business opportunities ?
(A) Marketing (B) Invention

(C) Promotion (D)  None of these

RS ggeE ga9ER S @ __

(A) =B IATE AT Q (B) wfhes raeR &

(C) wwrEwmelt ATy (D) T @ B 7

Project identification deals with

(A) Viable product plan (B) Logicgl opportunity
(C) Effective demand (D) None of these

https://www.bsebstudy.com
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7.

68.

69.

70.

[.218 )

w1 e TR afEeay §
(B) ﬂ'ﬂmm

(C) TRt e aiaeamd
D) (A) 3r (B) 2

Factor intensity oriented projects are
(A) Capital oriented projects

(B) Labour based projects

(C) Technology oriented projects
(D) Both (A) and (B)

3w arftnqew & 9fg }

A) P F | (B) = w@m

(C) I yaTE & D) T e
Increase in share premium is -

Source of fund (B)  Application of fund
(C] No flow of fund (D) ‘None of these
Prerferfaa % w -y afre 2 7
o (A) THEHET (B) &% rftrfeyemd

(C) & Aad D) iew =

Which of the following is a non-current liability ?
Mrtgage Loan (B) Bank Overdraft
(C)  Outstanding Salary (D) Prepaid Expenses
Te], AT Erel &

(a) s fagr srguma (B) - arguE
(© bk s D) wH & % 7@

Current ratio is

(A) Balance Sheet ratio (B) Profit & Loss ratio
(C) Composite ratio (D) None of these

24 /A /XI1-5026-37/40) Page 21 / 24
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[213]

@ vg - ¥ / SECTION - B

tions
Y IR W / Short Answer Type QUes

W w14 20 7 g iy &1 R @ el 10wl & T L1 Tl g

forg 2 s FreriRar &1 10 x2 =29
Question Nos. 1 to 20 are Short Ariswer Type. Answer any 10 questiong
Each question carries 2 marks. | 10x2 =2
1. YU % ST @R E > 2
- What are the organisational objectives of management ?
2. fon % e e B @ o | )
- What are the different channels of distribution ?

gl o TR e —— | - 2
Mention the reSponsibilities of an entrepreneur towards

environment. | :
4, T § S R s ) ;

What is the need of discipline in business ?
5. AR 37w fhat TR % B § - | 2
" How many kinds of preference share are there ?

5 @R A o ) | ‘ 2

Mention the meaning of works cost. W y
7. 3%RA % ToTC HATA F e § oo eror T

Why are resources needed for an enterprise ?
%@W&lﬁﬁm-ﬁmmﬁiﬁﬁmmé? 2

Which assets are included in Current Assets ?

https://lwww.bsebstudy.com




q_a Ain Q@A w®m R

| 218 |
what is demand rorcCaSting X 2
0. wrfa & afonfa =y,
Define strategy. 2
. TpurE P+ 5 i
what is quality contrg] »
. 3 fosea ¥
.~ fa X = T, )
Give any two differenceg between
31.3131:[ T % ? marketmg and selling |
13. 2
Whﬁt is contribution ?
. GECIEE TN E T e e S
14, S0 et s g wrmy 5
gtate any two llmltat_;lons.-of Capital‘intensive tcchnilque
ﬁ/ﬂw FZ ?
4 2
what is overdraft ?
@[‘dl 2
16. gt @ ¥ 2
What is sunk cost ? |
17 w;mmﬁﬁm%ﬁﬁmmw%; 5
| What are the various types of planning on the basis of function ?
L8 afErsET Whae <t e QY ferdivard s 2
State any two featlires of project report.
| What is circulating capital ?
)(-nwwﬂwm%amaﬂ?—ﬂ%? o
What are the two functions of middle-level management 2
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. 3 x S s

5 3t fAuifea & o
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Question Nos. 21 to 26 are Long Answer Type A 3 e '
X5

Each question carries 5 marks.

R R R e Ut 3
What is the difference betwecn average cost and marginal cost ?
22, foeftr freem 1 = TEa 2 o 5
What is the importance of financial planning ?
23. @l Gt Y sonfam w0 aret a7 aviA w1 5
Describe the factors affecting fixed capital.
/29./ e ) wfssar 1 iy a8 .5

Briefly discuss the process of planning.

}5( 5T ITHT At Forwaadt = sg@ Wt S
~ Mention the characteristics of a successful entrepreneur.

26. WK qeAiehd W 9WTT TTol 913 god - 4 £ 2 5

What are the factors affecting market assessment ?
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